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CHM 208: INTRODUCTION TO ANALYTICAL CHEMISTRY

TIME ALLOWED: 2 HOURS AND 30 MINUTES DATE: JULY 2024
QUESTION TYPE 4

Instructions:
1. Use HB pencil. 2. Write your surname and initials and shade appropriately.

3. Write your University registration number and shade. 4. Shade the question paper type.
5. Shade the alphabet corresponding to your correct option horizontally within the space prowded
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1. The molarity of a concentrated HCI purchased for laboratory use is approximately 12.1 M. What volume of, .23 y

this reagent should be diluted to 1.000 L to make a 0.100 M HCI? AN |0y ¢ ¢ Nog(Oq '

(A) 430 mL (B)8.26 mL (C) 12.26 mL (D) 15.20 mL 3 : “5 0, JWNaNC
— :1‘ -

2 What mass of Ag2CO; is formed from the reaction of AgNO3 with 2.33 g of Na,CO3? [Formula mass g/mol

Ag:COs (275.7); AgNO: (169.9); NazCOs (106.0)].
(A)7.47¢g (B) 1020 g (©)6.06 g (D) 10.00 g

3 A 2.00 g sample of limestone was dissolved in hydrochloric acid and all the calcium present in the sample '
was converted to Ca?*aq. Excess ammonium oxalate solution, (NH4)2C204(s), Was added to the solution to
precipitate the calcium ions as calcium oxalate, CaC;O4(;). The precipitate was filtered, dried, and weighed to
a constant mass of 2.43 g. Determine the percentage by mgss of calcium in the limestone sample. L

(A) 50.3% ,(B')‘ 38.1% (C) 76.2% (C)42.5% AT RN
4, What is the pKa value of an indicator that has a pH transition range of 4 to 67 G «) kil
~A~1 x 1073 B.1x10° C. 1x10° D. 0.5 x10! —2 (C, 0, f 4 2NHy
“w e -
5. A titration curve is the plot of: | \ aEv Rl
Y) the concentration of analyte against reagent volume (if) pH or potential of the electrode against
@ yte aga g

reagent volume (iii) the concentration of analyte against time

(iv) pAg versus volume of AgNQO;
A. All of the above  B. L, I, and III only ﬂ/ I and II only D. I IIandIV only

6. In the titration of a strong acxd with a strong base, at the pre-equnvalence stage the concentration of the acid

is computed from:
A. its starting concentration and the amount of base added . B. the hydroxonium ions calculated
from the ionic product constant for water AC. from the analytical concentration of the
excess base used | D. None of the options.
cN
@Mt is the pH of the resulting solution from the titration of 50.0 mL of 0.0500 M HCI with 26.0 mL of
-1000 M NaOH solution? : e ;g + GV
387 B. 11.12 B VB D. 13.87 /"""\/,
8. In redox titration, the following are used as reductants: )
(1) borohydride (BHy") (i1) lodine (1ii) Ascorbic acid (iv) Stannous (Sn**)
A.L,landIVonly B.L,MandMonly £ LMandIVonly D. IL IO andIV only

= NaCl+%.
1 Wl N C\Oﬂ‘
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9. In the Volhard method for titration of CI* with Ag+, the oxcess Ag+ is back titrated with: 1
A KSCN in the presence of Fo''as indicator B. KMnO« in the presence of Fi ‘ v
indicator C. KiCry0y in the presence of Fo™ as indicator D. KOH in the presence of F¢ '

indicator

@V}m is the concentration of free Fe’* in a solution of 0.10 M FeY" at (a) pH 2.0, (b) pH 8.07 (Ke=1.3x107,
ay (pH 2) = 2.6x10"Y, ay*(pH 8) = 4.2x107).

A A -

_Ac5.4x107 and 14x107 4§ P71 B.54x10"and 14x10" C.5.4x10” and 1.4x10" D. 5.4x107
-li r“)' \\

and 1.4x10

11. Write an appropriate ionic equation for the reaction between AgNOs(aq) and chloride ion in solution.

(AYAg'NOy(w+ Clup —p AgCly) + NOsap  (B) AgClig + Clay —> AgClyy + NOs'o
(C) Ag'NOy'(s) + Cl'a9 —» AgCly + NOs o) (D) Ag'NOs app + Clsy —» AgCly + NOsg)

12. What is the molarity of AgNO; solutnon prepared by dxssolvmg 17g of AgNOx.) in 100 cm? of water? [
Ag=108, N = 14, O = 16 g/mol].

(A) 5.2 mol/dm’ (B) 0.10 mol/dm? (C) 3.4 mol/dm? (P10 mol/dm’

13. Consider the precipitation reaction below: O/ 7 19 A7 " Alab obe B (L‘lj AQ,
Ca(OH)z(sq) + HC;H3O1) = Ca(C3H302)2(sq) + HaOg) Temt 17104 rp%s MO
Which of the following options represents the net ionic equation for the reaction? 4

(A) 20H (a9 H'(ag) — 3H20y, (B) OH e+ 4H* (s — 2H200) | U8
{CY20H o9+ 2H* ap — 2H20g) (D) 20H g+ 3H (a9 — 2H200) |

14. A 25,00 mL solution containing NaCl plus KCI was treated with excess AgNO; to precipitate 0.4368 g
AgCl. What was the concentration of the CI" in ppm? (AM of Cl = 35.5 g/mol) d ~+ f‘(n NUz = e 't

(A)Y4327.50 ppm (B) 2163.75 ppm (C) 1442.50 ppm (D) 1219.10 ppm 2 GaL 1 Oe"
4 Nz CN

15. 50.0 mL of a solution containing an unknown concentration of chloride ions is added to 50.00 mL of
0.0500 molL-1 solution of silver nitrate. The precipitate is filtered, and the filtrate is titrated with 0.0200 molL-

1 solution of sodium thiocyanate (NaSCN). The average titre volume after 3 repeated experiments is 25.00 "~ cv

mL. Calculate the concentration of CI- ion in the solution (in molL™). iiind
yﬁ 0200 molL"’ (B) 0.0800 molL % (C) 0.0400 molL"! (D)0.1200 moIL!. O ''4
16. Which of the following can be used to detect the endpoint of precipitation titration? | ‘;:s _ s eV
(i) The appearance of excess titrant - (ii) The concentration of ions 4o,
iif) The disappearance of the reactant _______j =
(A) () and (i (B) (i) and (i (@5 (i) and (ii) OO @miG N L

17. Argentometric titration is the precipitation titration that is involved with: '
(A) Silver chromate (B) Potassium chromate (f:) Sodium nitrate [23)} Silver nitratel8.
| Which of the following is true of a Precipitation reaction:

(i) A precipitation reaction occurs when two solutions containing soluble salts are mixed. O—@?
(ii) The reaction results in the formation of an insoluble salt.

(iii) Precipitation reactions in the solution can aid in determining the identity of various ions.

(iv) The precipitate is the insoluble salt that emerges from the solution.

(A) (), (i) and (iii)  (B) (i) and (iii) (C) (i), (ii) and (iv) LBYAll of the above
19. Which of the following traditional methods based on colour indicators can be used to identify endpoints
in argentometric titration? ‘
Ly The formation of coloured precipitate at the endpoint in Mohr’s titration.
2 :
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i) The formation of a soluble, coloured complex at the endpoint of Volhard’s titration.
/ /(iii) Adsorption of a coloured indicator on the precipitate at the endpoint in Fajan’s titration. (iv) The formation
- of an insoluble, coloured complex at the endpoint of Volhard’s titration.
(A) (1), (ii) and (ii1) ;B) (1), (ii) and (iv) (C) (i), (ii1) and (iv) (D) All of the above

20. Find the molarity and molality of 37.0 wt % HCI (density = 1.19 g/mL).
(AY12.1M,16.1m  (B)364M,322m (C)42.3M,808m (D) 16.8M,243 m

21. Which of the following statement(s) is/are correct about Precision and Accuracy?

(i) Precision reflects how close a measurement is to a known or accepted value, while accuracy reflects how
reproducible measurements are, even if they are far from the accepted value.

(ifyAccuracy is defined as ‘the quality of being exact’ and refers to how close two or more measurements are
to each other,

(ii#) It is possible for precision measurements not to be accurate.
(iv) Accuracy is defined as ‘the degree to which the result of a measurement conforms to the correct value or

a standard.
(A) All of the above (B (ii) and (iii) (C) (iii) and (iv) (D) (i), (ii) and (iii)

22. The following are examples of Systematic Errors:
(i) Operational/Personal errors  (ii) Errors manifest due to slight variations in successive measurements
Q,ii) Instrumental and Reagent errors (iy) Error of method |

(A) (i) and (iv) {BY(ii) and (iii) (C) (i), (ii) and (iv) Q)f(i), (iii) and (iv)

“33. The mean of four determinations of the copper content of a sample of an alloy was_8.27% with a standard
deviation = 0.17 percent. What will be the range of values for the Pb content of the alloy at 95% confidence
level? (Note: the value of “t” for the 95 percent confidence level with (n-1) is 3.18). i ¢ N s
(A) 8.00 - 8.14 % (B) 7.20 - 8.54 % £C) 8.00 - 8.54 % (D)7.80-850%  ~ -t S

‘ (Y
24. Which of the properties below describes appropriately v'olumctrio methods of analysis? Ak + Belf X0
() measuring the volume of a solution of known concentration that is needed to react completely with the "

analyte (IT) the product formed is filtered and washed free of contaminants (JH) the point at which
the colour change of an indicator is apparent to the eye is called the equivalent point '

(IV) sufficiently low solubility of the product so that no significant loss of the analyte occurs during filtration

-

and washing =
A.Iand II only _B.1, 11 and III only C. Tonly D.LLandIVonly ~'%47-% 54
25. Wthh of the following are not volumetric methods of analysis?
(I) UV-visible method (II) Volhard method (IIT) microscopic method
(IV) Complexometric method.

%1 and ITI only B. I, Il and III only C.,IIand IVonly D.IIandIV only

26. Consider the equation: Ag* + CI* = AgCl
At the equivalence point, what happens to the concentration of Ag* + CI" which remains un-precipitated?
(A) Ag'>CI (B) Ag*<Cr (O Agt=Cr (D) Ag* > CI"

27. Comi:lexomctric titration with EDTA have been applied in the determination of virtually every metal
cation with the exception of:
(A)Mgand Caions  (BJalkali metal ions  (C) trivalent cations (D) multivalent cations

28. Which of the following is not a component of the potentiometric electroanalytical method
a. reference electrode '
b. indicafor electrode



or auxiliary electrode
d. saltbridge

29. These are among the desired characteristics of an ideal reference electrode except
a. known or fixed potential, Er v
b. constant response (even when there is a net current in the cell)
o~ sensitivity to composition of the solution under study

d. obeys Nernst Equation

30. The following are types of indicator electrodes except
a. Metallic Indicator Electrodes
b. Membrane Indicator Electrodes
c. Jon-selective Electrode (field effect transistor) ISFET

d.—~Non-metallic indicator electrode

The electrodes of the first kind are not very popular because
_a” Metallic indicator electrodes are not very selective
b. Many metal electrodes cannot be used in neutral or basic solutions
c. Easily oxidized, can be used only when analyte solutions are deaerated to remove oxygen

d. Certain hard metals (Fe, Cr, Co, Ni) do not provide reproducible potentials

@l:he following are true of ion-selective electrodes, except |
“a<” It responds absolutely to only one target ion in the solution without any interference’by the presence
of other ions in the test solution.
b. The operation of ISE devices does not depend on redox processes.
¢. The key feature of an ISE is a thin selective membrane across which only the target ion can migrate.
d. Ion-selective membranes are usually made of hydrophoblc organic polymer impregnated with

ionophore Vo

, 7
33. Which of the following is not correct about ionophore
a. Itisa polydentate binding agent
b. It assists the target ion to transport across the membrane in an ion-selective electrode

¢. Calcimycin as Ca** ionophore and valinomycin as K* ionophore
" It contains a low concentration of the target ion

34, pH electrode as an example of an ion-selective electrode has the following limitations, except
a. The alkaline error |
b. Errors in low ionic strength solutions
/ High junction potential
d. Error in the pH of the standard buffer

35. Whenever current flows, the following factors act to decrease the output voltage of a galvanic cell or to
increase the applied voltage needed for electrolysis, except
_a.~ ohmic potential
4~ the concentration of ions in the solution
c. concentration polarization
d. Kinetic polarization

36. Which of the following is not correct about the coulometry method of analysis?
a. Itis an electrochemical method based on the measurement of the quantity of electricity

needed to convert the analyte quantitatively to a different oxidation state
b. Current is applied from an external source forcmg a nonspontaneous chemical reaction to take place

~. standardization 1s not usually necessary




A. 1tis faster and more convenient than gravimetric measurements

. Coulometric titrations are subject to the following potential sources of error, except:
a. variation in the current during electrolysis

b. the departure of the process from 100% current efficiency

& error in the potential measurement
d. Error in the measurement of time

38. A 0.3619 g (1.39 x 10 moles) sample of tetrachloropicolinic acid, CeHNOCls, is dissolved in distilled
water, transferred to a 1000-ml, volumetric flask, and diluted to volume. An exhaustive controlled-potential
electrolysis of a 10.00-mL portion of this solution at a spongy silver cathode requires 5.374 C of charge. What
is the number of moles of electrons (n) transferred for this reduction reaction? (Faradays constant = 96487 C)
Hint: na=Q/nF ' 2 8

401 B. 0.25 C. 0.02 D. 5.00 iy

39. Which of the following is not correct about your operation in the lab?
A. Do not touch or smell any chemical in the laboratory without an instruction from the lab instructor
J& Do not touch your face, eyes, or mouth while in the laboratory except after removing your gloves
C. Always hold chemical containers away from your body ’ o
D. Carefully check the label on the bottle before using its content. A A Nj NV,

40. Correct practice to ensure accuracy in the use of a burette includes the following except:

A. When reading the liquid level in a burette, your eyes should be at the same height as the top of the
liquid to avoid the error of parallax

B. Liquid should drain evenly down the wall of a burette, the tendency of liquid to stick to the glass
wall is reduced by draining the burette slowly

C. A common burette error is caused by failure to expel the air bubble often found beneath the valve,
you can dislodge the bubble by shaking the burette a couple of times

. Before filling a burette with fresh solution, rinse it several times with small portions of the new
solution, discarding each wash.

41. In the Volhard and Mohr methods, the solutions filled in the burette are?

(A) Silver nitrate and potassium chromate (B) Ferric ammonium sulphate and silver nitrate (C}
Potassium thiocyanate and silver nitrate (D) Potassium chromate and silver nitrate

42. The indicators used in the Mohr and Volhard methods are?

(A) Fe** indicator and Phenolphthalein (BY Potassium chromate and Ferric ammonium sulfate
(NH4Fe(SOq)2. 12H20) (C) Fluorescein and potassium chromate (D) Eosin and methyl orange

43. Arsenic in a 9.13 g sample of pesticide was converted to AsO4>" and precipitated as AgsAsO4 with 50.00
mL of 0.02105 M AgNOs. The excess Ag* was then titrated with 4.75 mL of 0.04321 M KSCN. Calculate the
% of As;0; in the sample. |

331% B. 0.528% C.0.291% D. 5.267%

at mass of AgCOs (in mg) is formed from the reaction of AgNO3; with 2.33 g of Na;CO;? [Formula
mass g/mol: Ag.CO; (275.7); AgNO; (169.9); NaxCOs (106.0)]. nyNO 3 +Noy CDg 2 A 9 :{',0 z f2NaN
(A)6.06mg  (B)10.20 mg (2Y6.06 g (D) 0.0061 g Q3 > %2 4 -’

|
45. An excess amount of 0.0500 molL"! solution of silver nitrate is added to 50.0 mL of a solution containing

an unknown concentration of chloride ions. Some amount of potassium chromate is added and used as an

indicator. The endpoint of the titration is marked by the formation of silver chromate ions according to the
reaction:

57 0. —7 P NSO
2Ag“'( .q)-}- ' CI'OAZ.(aq) el AngrO«s) AS O'T -—{- 9\ 3'\1 ) 3_5 s

!

5



d.ﬂ«\‘\ 9 ¢ T \ QU -~
s T+ & e

The average titre value after 5 repeated experiment; is 18.50 mL. Calculate the concentration of chloride in
mmolL""
yo’ 185.0 mmolL! (B) 61.7 mmolL"! (C) 92.5 mmolL*! (12)18.5 mmolL"!

S Ot oy
46. A 5.0 mL portion of vinegar with a density of 1.008 g/mL requires 42.03 mL. of 0.1002 M NaOH solution

for titration. Calculate the weight percent (wt%) of acetic acid in the sample. (IVlolar mass of acetic acid = 60

g/mol).
(A) 25.0%

(BY 50.2 % (C) 100.0% (D) 112.4%

47. Calculate the standard deviation or error margm in the weight of these vitamin C tablets: 0.11 g, 0.12 g,
and 0.10 g.

(Ay0.01 (B) 0.20 (C) 0.05 i+ SoRgE (D) 0.10
rel
48. From question 47 above, calculate the % aseorblc acxd in the first tablet if the actual weight found when
dissolved in 10 cm’ of water is 0.09 g? 06 Gq
(A) 163.62% (By81.81% (C) 41.00% | rofm*(D) 20.52%

49. Provide the name, colour, and formula of the compound that is precipitated during the precipitation titration

using Mohr’s method. .
%ﬂver chromate, Red-brown precipitate, Ag:Cr,04 (B) Potassium thiocyanate, Red-brown precipitate,
KSCN (C) Siver nitrate, brick-red, AgNO3 (D) Silver nitrate, Red-brown

precipitate, AgNO:3

50. State the function of BaCl: in the gravimetric determination of sulphate?
(A) Complexometric agent (B) Hydrating agent
(C) Precipitating agent ‘ /D) Drying agent

51. An empty weighing bottle has a mass of 10.283 g. After water was added from a 25-mL pipet, the mass
was 35.225g. The prevailing temperature was 23°C. Find tie true volume of the water delivered by the pipet

if 1g of H2O has a volume of 1.0035 mL at 23°C. - _ TR
A225.03 mL B. 24.86 mL C.25.30 mL D. 224.68 mL 4> G
et A s
52. A standard solution of 0.0500 M that was prepared at 10 °C was re-standardized before use in summer ST

with a temperature of 30°C, and its concentration was found to be 0.0498 M. What is the expected
concentration of the solution with the prevadmg summer temperature? (density of the solutlon is 0.99970g/mL ’gm
@ 10°C and 0.99570 g/mL @ 30°C

A. 0.0502M . 0.0498 . C.0.0480 M D. 0.0520 M
53. How would you use a volumetric flask to prepare 250.00 mL of 0.0150 M KzSO4? (K =39 g/mol, S =32 Ca0
g/mol, O = 16 g/mol) ‘ f'\‘x %¢ _ o dﬁ( |
A. Dissolve 652.5 mg K2SOq salt in 250 mL distilled water ~ q 1 @S ';D /

B. Dissolve 625.5 mg K2SOy4 salt in 250 mL distilled water
C. Dissolve 625.5 mg K2SOy salt in distilled water to make 250 mL
P Dissolve 652.5 mg K2SO;4 salt in distilled water to make 250 mL

54. You are to prepare 250.00 mL of 1.00 M solution of KNO; at 20°C, but the lab (and water) temperature is

25°C at the time of preparation. How many grams of the solid KNNOj (density = 2.109 g/mL) should be

dissolved in a volume 0f£250.00 mL at 25°C to give a 1.00 M solution at 20°C? (K = 39 g/mole, O = 16 g/mole,
N = 14 g/mole, the density of water equals 0.9982071 g/mL and 0.9970479 g/mL at 20°C and 25°C

respectively)
A.252210g B.25.2794 g C. 25.2749 g )/ 252207 g .
,0 " 2% &
| ke Cae
6 _— g e
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.-"55, The true volume of a ?5 mL volumetric flask is 25.037 mL at 25 °C, What mass of water would be
contained in the flask at this temperature? (1 g of water has a volume of 1.0039 mL/g at 25°C)

KX7249397¢g B.25.1335 g C.25.0975¢g D. 249039 g
56. The pH of a buffer solution is 3.09. What is the activity of H* in the buffer? |
A. 1.23 x 10¢ _AB.8.12 x 10 C. 1.23 x 10* D. 8.13 x 10

S7. Which of the following statements is/are correct?
I. Saturated reference electrodes are most widely used because the [Ag*] does not change with loss of liquid

to evaporation.

I1. A good reference electrode responds to the components of the test solution. o O\“B

II1. The half cell reaction at the silver/silver reference electrode is given as: w 6
AgCl) +e- == Agy + Clio. %\\ '

IV. Calomel reference electrode with 1 M KCl is the most stable.

A.I1& II only B.II&IV C. II only P11 only

58. A solution of potassium permanganate (KMnQOs) was found to be 0.0514 M at 27 °C. What was the
percentage change in its molarity when the lab temperature dropped to 16 °C? (density of water = 0.9965162

¢/mL @ 27 °C & 0.9989460 g/mL @ 16°C) ot 16t
A. -0.39% B. -0.19% e70.19% D. 0.39% 0z €

0-aq%h f60
59. Calculate the concentration of H* for a water sample that has a pH of 6.25 if the activity coefficient of the

sample is 0.854 at an ionic strength of 0.025. |
A.4.80 x 10"M B.225x10°M (658 10"M D.5.62 x 10"M

60. Cal.culate the concentration of H* for a water sample that has a pH of 3.25 if the activity coefficient of the

sample i:3 0.854 at an ionic strength of 0.025. 5 A £
A.5.62 x }0*M B. 1.78 x 10°M €658 x 10*M D.2.08 x 10°M 0\ &%

5

61. A cyanide jory Selective electrode obeys the equation: E = constant — 0.05916 log[CN']. When the electrode
andard solution of 0.001M NaCN, the potential reading was -0.230 V., What will be the

was immersed in a : . . ,
- readinm :v v ? electrode is immersed in a 0.003M solution of NaCN? 0-2% Ll
J A-0 ZSgS Y o B.0.258 v C.-0.557V D.0557V R 0t

. f " ahyleneo‘jﬂmmetetr&aceﬁc acid (EDTAT?
62. Which of the following is true about ... fofivydeprbonated form is Y (iif) it has three binding
_AD It is an aminocarboxylic acid (ii) Its tu.., ~ons{O0 & metal ion.
sites £iv) can donate six pairs of eleckreyg only By (i) & (iv) only

(A) All of the above  (B) (1), & (i) only (C) i) & (iv, m\fj k., ‘@and complex, in which EDTA

63. Which of the following properties is not true about the EDTA metz,
forms a cage-like structure around the metal ion?

. ‘ nty
(A) form an unstable compound (B)all metal-EDTA complexes have a hﬁbt&tmztlom Aand C.
(C) The actual number of coordination sites depends on the size of the metalion (D) Oftron “Aand €

\ ~toichiometry

64. Which; of the following options represents an inorganic chelating agent?
(A) 8-hydroxyquinoline and Cupferron (B)yCupferron and water
(C) Dimethylglyoxime and ammonia (D) Salicylaldoxime and ammonia,

65. Glycine (Gly) is an example of:

(A) Monodentate ligand /(B‘) tridentate ligand
(C) Hexadentate ligand (D) Bidentate ligand



66. A chelate is produced when a metal ion coordinates with two or more donor groups of a single ligand to
form:

(1) five- or six-membered heterocyclic ring (ii) three or four-membered heterocyclic ring (iii)
four or six-membered heterocyclic ring (iv) three or five-membered heterocyclic ring. b
L4) (iv) only (B) (i) & (ii) only (C) (1) only (D) (1), (11) & (iii) only

67. Fraction (a) of the most basic form of EDTA (Y*) is defined by the H* concentration and acid-base
equilibrium constants. Calculate the molar concentration of Y* in a 0.0200 M EDTA solution buffered to a

pH of 4.00. (Note: the value of ay* for EDTA at 20 °C and pH 4 = 3.0 x 107),
(A)6.0x10°M (B)60.0x10°M (€y6.0x 10"' M (D) 60.0 x 10" M

68. If the equilibrium concentration of Ni?* in a solution with an analytical NiY? concentration of 0.0150M
at pH 8.0 is 2.9 x10? M. Calculate K

(A) 42.0 x 10" 9}42.0 x 10" (C)3.1 x 10" (D) 3.1 x 10"
69. The name of the complex formed from the reaction below is: £ \d‘{(..--t
‘\{ = / >
0=C—0_ 0—C=0 ev
Cu®* + Zﬂe—c—-ﬁi——-(m — I d: Cr + 20
(A) Chlorophyllin ' (B) Copper phthalocyanine
(C) Copper(Il) glycinate (D)Copper(II) acetylacetonate.

70. Which of the following is/are correct about a complexometric titration?

(i) The technique involves titrating metal ions with a complexing or chelating agent (Ligand).

(ii) Ligands can be any electron-donating entity, which can bind to the metal ion and produce a complex ion.
(iii)The number of electrovalént bonds a cation tends to form with electron donors is its coordination number.

’/

(iv) Typical values for coordination numbers are two, four, and six. — (v) The species formed as a
result of coordination can only be electrically positive.
All of the above (B) (i), (ii) & (iii) (C) (1), (ii) & (iv) (D) (ii), (iii) & (iv)

71. Calculate the pAg of the solution during the titration of 50.00 mL of 0.0500 M NaCl with 0.1000 M AgNOs

after the addition of 24.50 mL of AgNOs [ Ky (/:?) = 1.82 x 10°19].
A. 6.57 B. 4.87 3.18 D. 10.25

TYPE 4
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